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I. Composite Functions
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II. The Hyperbola?

      
[image: image3.wmf]()(4)

yfxxx

==-


 7. Write the equation for the hyperbola in standard form showing your work to ‘complete the square’.

 8. 
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9. Graph f(x) showing the ‘reference rectangle’ and the asymptotes.

10. Use the ‘point-slope’ form for the equation of the lines (asymptotes), 
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III. Rational Functions (maybe?)

 11. Graph: 
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12a. Graph: 
[image: image7.wmf]2
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12b. Complete ‘the number line’ for y 

to show when the curve goes positive vs negative.

12c. Draw and label all asymptotes and intercepts.

12d. Is this function odd, even or neither?

13. By the way… are the following functions odd, even or neither?
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14a. Graph: 
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14b. Graph: 
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14c. Graph: 
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IV More Graphing

 15. Graph: 
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 16. 
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 17. Graph: 
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 18. Graph: 
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V. Some Derivatives?
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 19. Show your work to find… 
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 20. Then find 
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 21. 
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VI. Getting ready for some ‘word problems’

 22. A sheet of metal (12 x 16 cm) is to have square corners cut out. It will then be folded to form a box with no lid. Express the box volume (V) in terms of the side (x) of one of the squares cut out.



 23. A cylinder (can) with both top and bottom has a radius (r) and height (h).

  a) Express the surface area (A) in terms of both r and h.

 A = f(r,h) =

 b) If the height (h) is 3 times the radius (3r), express the surface area (A) in terms of the radius (r) only. 

 A = g(r) =
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I. Composite Functions
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II. The Hyperbola?
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 7. Write the equation for the hyperbola in standard form showing your work to ‘complete the square’.
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9. Graph f(x) showing the ‘reference rectangle’ and the asymptotes.

[image: image26.png]


Only the bottom half of the hyperbola

10. Use the ‘point-slope’ form for the equation of the lines (asymptotes), 
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III. Rational Functions (maybe?)

 11. Graph: 
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 (This is Trick #2 Hole-in-the-Graph Trick!)
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12a. Graph: 
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12b. Complete ‘the number line’ for y 

to show when the curve goes positive vs negative.

12c. Draw and label all asymptotes and intercepts.

See graph above for x = 2, x = -2, y = -1 for asymptote equations and 

 

x = 3,-3  y = -9/4 for intercepts 

12d. Is this function odd, even or neither? even

13. Are the following functions odd, even or neither? odd, odd, odd, neither
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14a. Graph: 
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         14b. Graph: 
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  14c. Graph: 
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Okay, what did our TI-83 do now???

a) There should be an open dot at (2,4)

b) There should be an open dot at (3,9)

c) Whoa doggies! This one is way off! We really tricked the calculator on this one!

There should be a ‘gap’ in the parabola (The old ‘Gap-in-the-Graph Trick!) for  1 < x <2 with open dots at (1,1) and (2,4).
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IV More Graphing

 15. Graph: 
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These two graphs need work!

Draw the steps for the 1st graph.Erase the ‘vertical rises’ on the 2nd graph. Put in open dots on both.

16. 
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17. Graph: 
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                                      18. Graph: 
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This one is only missing one open dot at (0,0).
‘sharp’ points at (-2,13), (1,7) and (3,7).

V. Some Derivatives?
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 19. Find 
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20. Then find 
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21. 
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VI.   22. A sheet of metal (12 x 16 cm) is to have square corners cut out. It will then be folded to form a box with no lid. Express the box volume (V) in terms of the side (x) of one of the squares cut out.
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        23. A cylinder (can) with both top and bottom has a radius (r) and height (h).

a) Express the surface area (A) in terms of both r and h. A = f(r,h) =
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 b) If the height (h) is 3 times the radius (3r), express the surface area (A) in terms of the radius (r) only.  A = g(r) =
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